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AS LEVEL BUSINESS COMPONENT 1

All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %

1 717 9.8 2.6 16 60.9 100

2 717 6.5 1.7 10 64.5 100

3 717 5.2 2.3 8 65.1 100

4 717 8.7 2.8 16 54.5 100
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AS LEVEL BUSINESS COMPONENT 1

Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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1 (b)  Outline ways in which Sebastian demonstrates the typical characteristics of an 
entrepreneur. [4] 


Band 
AO1 AO2 


2 marks 2 marks 


2 


2 marks 
Demonstrates good understanding of 
the key characteristics of an 
entrepreneur. 


2 marks 
Good application of the key characteristics 
of an entrepreneur. 
The key characteristics are applied in 
context of the data. 
 


Clear reference to the text. 


1 


1 mark 
Demonstrates a limited knowledge or 
understanding of the key characteristics 
of an entrepreneur. 
 
 


1 mark 
Limited application of the key 
characteristics of an entrepreneur. 
 


Reasons given and the learner’s response 
is mainly theoretical with limited reference 
to the data. 


0 
0 marks 


No knowledge of the characteristics of 
an entrepreneur. 


0 marks 
No application to the data. 


 


Indicative content: 
 


 He has determination to succeed and to make a go of his business. 
 He is passionate about pursuing his dream. 
 He has turned his unique idea into a business. 
 He is proactive and not afraid to seek advice and get support. 
 He is very creative having decided to come up with his own innovative/custom-made 


designs. 
 He has demonstrated that he is hard working and focused.  
 He is a risk taker who has given up his full time job or willing to invest his own 


savings. 
 He is an effective organiser. Already runs his own business. 


 
No marks given for motives.	
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Sticky Note

1 AO1 mark awarded for identifying a characteristic of an entrepreneur. Candidate has demonstrated knowledge.

1 AO2 mark awarded for identifying a characteristic of an entrepreneur using the information provided in the stem.  Answer is in context.  Candidate has demonstrated knowledge and understanding.

1 AO1 mark awarded for identifying a second characteristic of an entrepreneur. Candidate has demonstrated knowledge.

1 AO2 mark awarded for identifying a second characteristic of an entrepreneur using the information provided in the stem.  Answer is in context. Candidate has demonstrated knowledge and understanding.

In total 2 AO1 and 2 AO2 marks have been awarded.  Candidate has achieved maximum marks.




Sticky Note

A total of 4 marks has been awarded for this answer.  Not only does the answer demonstrate knowledge of the different characteristics of an entrepreneur but also application skills.
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Sticky Note

Candidate has achieved 1 AO1 and 1 AO2 mark for mentioning that Sebastian is hard working and committed. The candidate has also used information from the stem to show how Sebastian has demonstrated this characteristic as an entrepreneur.

Candidate has achieved full marks because they demonstrated both knowledge and understanding of the different characteristics of an entrepreneur and applied these in context.
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Sticky Note

2 AO1 marks awarded for identifying two characteristics of an entrepreneur. Sebastian is a risk taker and innovative. Candidate has demonstrated good knowledge.

1 AO2 mark awarded for identifying a characteristic of an entrepreneur using the information provided in the stem.  Sebastian invested his savings to start his own business. Answer is in context.  Candidate has demonstrated knowledge, understanding and application.

This part of the candidates answer is not in the stem, therefore, not in context. Candidate has not applied the information provided.
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Answer all the questions in the spaces provided.


1. Sebastian is an entrepreneur who runs his own business designing and selling custom-made 
jewellery boxes. In order to pursue his dream he gave up his full time job and is now committed 
to working long hours in order to  achieve his goals. He has also invested all his savings to help 
run his small business.


 Sebastian plans to approach his bank manager for a loan to help with expanding his enterprise.  
A friend has suggested that, as well as seeking professional advice, he should produce a 
business plan in order to ensure the success of his business venture.


 (a) Apart from the bank, identify two sources of information or guidance available to a 
business start-up such as Sebastian’s. [2]


 


 


 


 


 (b) Outline ways in which Sebastian demonstrates the typical characteristics of an 
entrepreneur. [4]
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4 (b) Adapt and label the diagram above and explain what might happen to the price 


of other brands such as Apple as a result of the bad publicity for Samsung.   [4]


Band 
AO1 AO2  AO3 


1 mark  1 mark  2 marks 


2 


  2 marks 
Explains reason for the shift in the 
demand curve to the right and the 
impact on the new equilibrium 
price. 
 
Clear explanation of the impact on 
price of other brands as a result of 
bad publicity. 


1 


1 mark 
The learner shows 
knowledge and 
understanding that the 
price will increase via 
diagram or 
explanation (even if 
not labelled). 


1 mark 
Applies knowledge by 
moving demand curve to 
the right. 
 
The new demand curve 
must be labelled 
correctly.


1 mark 
Limited explanation of reasons 
why demand curve shifts to the 
right. 
 
 


0 


0 marks 
No knowledge or 
understanding that the 
price will increase. 


0 marks 
Incorrect change to the 
diagram or the demand 
curve is moved correctly 
but is not labelled or not 
labelled correctly. 


0 marks 
No explanation of the impact on 
price of other brands as a result of 
bad publicity. 
  
 


 
Indicative content: 


 
 
 
 
 
 
 
 
 
 
 
 
 
 
 


 Able to identify how the changes will impact upon the demand curve of other phones. 
 Moves the demand curve (shifts) to the right on the diagram. 
 Changes as a result of bad publicity explained as reason for shift in demand curve of 


other phones. 
 Price increase – new equilibrium price where D1 cuts original supply curve.	
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Sticky Note

Candidate has lost 1 AO1 mark for not demonstrating how the price of other phones will increase via the diagram or in their explanation.

No AO2 mark has been awarded to the candidate because they failed to apply their knowledge and understanding by shifting the demand curve to the right.  Candidate has also not identified the new equilibrium price as a result of the shift.


2 AO3 marks have not been awarded because the candidate has not identified how the bad publicity suffered by Samsung will impact on the demand curve of other phones and their equilibrium price.

No marks awarded.
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Sticky Note

1 AO1 marks awarded for demonstrating knowledge and understanding that the price of other phones will increase.  The candidate has done this both using the diagram and in their explanation.

1 AO2 mark awarded for applying knowledge and understanding by moving the demand curve to the right.
Both the demand curve and the equilibrium price have been labelled correctly.

The candidate has clearly explained the reason for the shift in the demand curve to the right and the impact on the equilibrium price of other phones as a result of the bad publicity. 

The candidate achieved full marks on this question because, as well as demonstrating both knowledge and understanding, they have demonstrated application and analytical skills.
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Sticky Note

The candidate loses 1 AO2 mark because the new demand curve and equilibrium price are not labelled correctly. 

1 AO1 mark awarded for showing a shift to the right of the demand curve, which increase the equilibrium price. AO1 mark awarded even if diagram is not labelled correctly.

Only 1 AO3 mark awarded because candidate has explained the impact of Samsung’s bad publicity on the demand of other phones, but should have given a clear explanation of the impact on the price of other phones as a result of the bad publicity.

Only 1 AO1 mark and 1 AO3 mark awarded for this answer.
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4. Bad publicity


 To increase market share and profit some businesses may engage in unfair practices at the 
expense of the consumer. Unwanted PPI, the Volkswagen emissions scandal and the horsemeat 
food scandal are examples of these and illustrate the need to provide protection for the consumer 
against such practices.


 South Korean tech giant Samsung has permanently stopped production of its high-end Galaxy 
Note 7 smartphone after reports of handsets that it had declared to be safe had caught fire. The 
company said, “For the benefit of consumers’ safety, we stopped sales and exchanges of the 
Galaxy Note 7 and have consequently decided to stop production.” 


 “Samsung could suffer a considerable loss of consumer faith,” said Greg Roh, a market expert. 
He added, “The reason consumers prefer brands like Samsung and Apple is because of product 
reliability. So, in this case, brand damage is inevitable and it will be costly for Samsung to turn 
that around again.” 


Source: Adapted from BBC News 11th October 2016 
http://www.bbc.co.uk/news/business-37618618


 (a) Explain why consumers sometimes need protecting from business organisations.  [4]
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 (b) Adapt and label the diagram above and explain what might happen to the price of other 
brands such as Apple as a result of the bad publicity for Samsung. [4]
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Demand and Supply of other brands of smartphones
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4 (c) Assess the view that brand image is the most significant factor in the demand for 


smartphones.  [8]


 AO1 AO2 AO3 AO4 


Band 2 marks 2 marks 2 marks 2 marks


2 


2 marks 
Demonstrates good 
understanding of the 
key factors that 
affect demand. 
 
Clear understanding 
of the reasons why 
demand in the 
market is affected by 
brand image and 
bad publicity. 
 
Clear understanding 
of the other factors 
that affect demand. 


2 marks 
Good application 
of the key factors 
that affect the 
demand for 
smartphones. 
 
The key factors 
are applied in 
context of the 
data. 
 
Clear reference 
to the context. 


2 marks 
Good analysis of 
the key factors 
that affect the 
demand for 
smartphones. 


 
The analysis is 
detailed and 
shows a clear 
understanding of 
the impact of 
these key factors 
on demand. 


2 marks 
Well-reasoned and 
balanced evaluation that 
considers the significance 
of the key factors that 
affect demand for 
smartphones. 
 
Lines of evaluation are well 
developed and informed 
judgements are made. 
 
Attaches weight and value 
to points in the evaluation. 
 
May offer an overall 
judgement on the most 
significant factor. 


1 


1 mark 
Demonstrates 
limited knowledge of 
the key factors that 
affect demand. 
 
Superficial 
understanding of 
how brand image 
and bad publicity 
affect demand.  
 
Other factors may 
be identified. 


1 mark 
Limited 
application of the 
key factors that 
affect the 
demand for the 
business’ 
products. 
 
The learner’s 
response is 
mainly theoretical 
with limited 
reference to the 
data.


1 mark 
Limited analysis 
of the key factors 
that affect the 
demand for 
smartphones. 
 
A superficial 
understanding of 
the key factors of 
demand. 


1 mark 
Limited evaluation of the 
key factors that affect 
demand. 
 
The evaluation may be one 
sided and include general 
comments. 
 
Judgements are superficial 
and unsupported. 


0 


0 marks 
No knowledge or 
understanding of 
what affects 
demand. 


0 marks 
No application to 
the data. 


0 marks 
No analysis 
included. 


0 marks 
No evaluation of the 
factors that affect demand. 


 
  







	


© WJEC CBAC Ltd. 2


Indicative content: 
 


 Brand image is extremely important to organisations such as Samsung and 
consumers expect good quality and innovative products. Reliability and good after 
sales service are also important to customers. 


 Rivals, like Apple, could use this bad publicity to their advantage and increase their 
market share. 


 Companies such as Samsung and Apple are able to charge premium prices for 
goods because of the quality of their products and branding. 


 It is vital that Samsung maintains its position as market leader and its brand image is, 
therefore, very important. 


 It is important that Samsung keeps its customers happy and satisfied, as competition 
from countries, such as China, could prove very dangerous. 


 Samsung’s reputation is crucial to its overall success. 
 Bad publicity surrounding the Galaxy Note 7 could seriously damage the demand for 


other phones in its product range, as trust in the company will have been lost. This 
may affect future products also. 


 Income – it is likely that an increase in income will result in an increase in demand for 
Samsung phones and vice versa. People may upgrade their phones more often or 
less often.  A business like Samsung will already have experience of the effect of an 
increase or decrease in income on their product range. 


 Changes in taste and fashion will affect the demand for Samsung phones.  The 
demand for smartphones has declined recently as spending has slowed down 
globally and the sector has become saturated. Apple watches are now becoming 
fashionable. 


 Increasingly expensive price tags have also slowed down demand and growth. 
 The strength of competition will have an effect on demand. Apple, Samsung’s major 


competitor, is once again planning to include new features on its phones.  Lesser 
well-known brands from China (Oppo and Xiaomi) may eventually prove to be a big 
threat. Pixel phone by Google. 


 Price of substitutes will affect demand. One reason why Samsung continues to lead 
is because its product range suits customers with different budgets.   There are 
rumours of a planned expansion of Apple’s product line to attract those on lower 
incomes. 


 New technological advances and changes may eventually change the face of the 
smartphone industry. 


 Economic and political stability affects the demand and supply for luxury goods such 
as smartphones. Availability of credit impacts on this also. 


 Government policy and consumer legislation may affect the availability and price of 
smartphones. 


 Changes in demography – changes in structure of population can affect the demand 
for certain goods such as smartphones. 


 
Credit any valid point. 
 
 
 
 
 
 
 
 
 
 
 
 
 












2
A01-1
A03-1







4
A01-1
A02-1
A03-1
A04-1







Sticky Note

Candidate was awarded 4 marks in total, which is only half marks. The candidate failed to demonstrate a good knowledge and understanding of the factors that affect the demand for smartphones with limited application. The candidate also demonstrated weak analysis and evaluation skills.
This part of the candidate’s answer is not in context. The candidate, therefore, lost AO2 marks.

The candidate demonstrates analytical skills here as they explain the impact of having a bad brand image on profits and sales.

Here, the candidate begins to evaluate and is awarded 1 AO4 mark for attempting to give a balanced answer by introducing income as another factor that may affect the demand for smartphones. A number of different factors needed to be included for 2 AO4 marks.

The candidate has attempted to analyse and develop their answer further but failed to include clearly a number of different factors that affect demand. Therefore, only 1 AO3 marks was awarded.

The candidate attempts to include a conclusion but this is weak and repetitive. No overall judgements are made as to the most significant factor that may affect the demand for smartphones.
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Sticky Note

The candidate has included a number of significant factors that affect demand as well as brand image, which has earned the candidate 2 AO1 marks. The candidate has demonstrated good knowledge and understanding in this instance.

The candidate has attempted to evaluate but the lines of evaluation are only partly developed.
1 AO4 mark has been awarded for a limited evaluation. Although the candidate includes a conclusion, judgements are superficial and comments are general and unsupported.

The candidate has been given 2 AO2 marks because there is good application throughout the answer.  There is clear reference to income elasticity and smartphones; Apple’s success and the effect this has had on Nokia and the importance of changing technology in the market.

The candidate was awarded 1 AO3 mark only.  A good analysis is detailed and shows clear understanding of the impact of a number of key factors on demand. The candidate needed to develop further the points made for a number of the key factors mentioned. Some comments are unclear and superficial.
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Sticky Note

1 AO4 marks awarded for attempting to give a balanced answer and include a number of key factors that may affect the demand for smartphones.

As well as identifying a key factor that may affect the demand for smartphones, the candidate demonstrates good application skills by making reference to the cost of iPhones.

As well as identifying another key factor that may affect the demand for smartphones, the candidate demonstrates good application skills by making reference to the specifications of smartphones.

1 AO3 mark awarded because candidate uses information from the stem and develops point made by explaining the impact on Samsung’s image as well as on the demand for Apple products.

The candidate has produced a good analysis.   Points made are developed and a clear understanding of the impact of the key factors on demand has been demonstrated.  The answer is balanced with reference to brand image as a significant factor in the demand for smartphones.

Though the candidate has made an attempt to produce a well-reasoned and balanced evaluation, other key factors that affect demand, such as income; the price of substitutes; changes in demography or consumer legislation, could have been included and discussed in order to secure top marks.
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4. Bad publicity


 To increase market share and profit some businesses may engage in unfair practices at the 
expense of the consumer. Unwanted PPI, the Volkswagen emissions scandal and the horsemeat 
food scandal are examples of these and illustrate the need to provide protection for the consumer 
against such practices.


 South Korean tech giant Samsung has permanently stopped production of its high-end Galaxy 
Note 7 smartphone after reports of handsets that it had declared to be safe had caught fire. The 
company said, “For the benefit of consumers’ safety, we stopped sales and exchanges of the 
Galaxy Note 7 and have consequently decided to stop production.” 


 “Samsung could suffer a considerable loss of consumer faith,” said Greg Roh, a market expert. 
He added, “The reason consumers prefer brands like Samsung and Apple is because of product 
reliability. So, in this case, brand damage is inevitable and it will be costly for Samsung to turn 
that around again.” 


Source: Adapted from BBC News 11th October 2016 
http://www.bbc.co.uk/news/business-37618618


 (a) Explain why consumers sometimes need protecting from business organisations.  [4]
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 (c) Assess the view that brand image is the most significant factor in the demand for 
smartphones.  [8]


 


 


 


 


 


 


 


 


 


 


 


 


 


 


 


 


 


 


 


 


 


 


 


 


END OF PAPER











